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If there is any error/difference/contradiction in Hindi or English .
Version of the question paper the question of Hindi Version should

be treated valid.
U - A (Part - A)

T e g @ 75 % w T o 1

Using Ekadhikan purvan method. Find the square of 75.

e fafy § sxawem i | ' 1
Subtraction by Vaidic Method '

98356 - 70467

SUDSRﬁWWg%W%W-ﬂEﬁﬁI' 1

Express the 5005 as the product of its prime factors.

"tani? 60° % T T F 1 Find the value of tan® 60° . 1

& Sl EE w1 WEE T F S & 9 ¥ A gl
HIv M o 1
The shadow of vertical pole is equal to the height of that pole 1he51
find the angle of elevation of the sun."

AR T Fargeil ¥ wrgrey famgall w1 fague fafad 1

What will the locus of the points equidistant from two given point.
v g @ fen 5 A9 ¥, e Tl Wt S war wad 1
The radius of a circle is 5 cm. What is the greatest length of chord
of this circle, '

T TR ) T AR 4 T SR 33T 1 e e i 11
In throwing a dice, find the probability of getting a prime number.
AR Sl T A S # e S i gl €2 1
What is geometrical shape of red light in traffic signal. :
afs ue T ¥ SR Y 20 AR e wewr F 1w fag A T
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If the elevation angle of a camera situated at the top of a pole

from a point 20 metre away from the base of the pole is 60°, finq
the height of the pole.

W - & (Part - B)
4225 F1 g5 A fafy g avigs 9@ =1
Find square root of 4225 by Dhvandhyog method.
fog =it 7./5 & aafidg dem €1

Prove that 7.5 is an Ir-rational number.
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If the total surface area of semi sphere is 481 cm? then find the
length of its radius.. ‘

¥ T IS 1 9 28 A ¥ @ 91 W A gE s 2

The perimeter of a surface of the cube is 286 then find the
volume of the cube. '

T U ©H | 3591 fara el o o & wafs waw fav 70
HIZ a1 o el 140 Het Wam e : 2
How much distance for the 35th signal from a road stone while

the first and second signal distance is 70m and 140m repectively
from the same road stone. .

HIT - ¥ (Part- C)
Q SRl T TOFH (x - 7)(x* +8x +12) ¥ 19 Ao =
W& FATE (HCF) (x+6) & & $71 @ged ¥oraed (LCM)
ECETECI 3
The product of two expressions is (x — 7)(x* + 8x + 12) . [ftheir

highest common factor (HCF) is (x + 6) then find their least com-"
mon multiple (LCM).

19 200 TF 4 ¥ W9 W@ *1 ATl T Fe | 3

Find the sum of all natural numbers between 1 and 200 which are-
divisible by 4. '

U SRR TG ! O A TR OT F S T a9 103§
T g T I S0 a1 Em? . 3

If the ratio of the length of a vertical bar to its shadow is 1:4/3,
then find the elevation angie of the sun. '
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19TABCTE T f & R 2B = 90° # 1D 3 E F9: AB

W BC W A g foem 1 oG R AR? 4 OD? = AC? 4 DE?

Inarightangled A ABC, /B = 90° . If points D and E on the AB
and BC respectively then prove AE* +CD? = AC? +DE?. 3
20.  aHfa§ £OKS 9 ZROP B R P
< WUR WA 70° ”
AOPR~AQSK. ae1
£POS = 125° 3R oz
ZPRO=T0°%| .

: K- 8
In fig. find the angle ZOKS and ZROP. If AOPR~AOSK and
ZPOS = 125° and ZPRO = 70°. .
%/a@ﬁ[ﬁaﬁma@ﬁamm%arﬁmmmau 3
In fig find t he all four angles
of a cyclic quadrilatural ABCD,

22. A ABC % 3i=7ia 90 =Y 7o Fifd w1l AB = 4.6 ¥t AC=4.2
7 AR ZA=90° 3

Construct an incircle of a triangle with AB=4.6 cm, AC=42cm

and £ZA =90°,
23 fordlt 3 =1 oftfa o fem a0 srm 74 A0 % 139 39 o v v
Fifd | 3

. The differem e between the circumference and the radius of a
zﬁ/- circle is 74em, {ind the area of the circle.

C - TH I E @R 4, e o IO W U 5132 % 1 9fy wy
oY g QAR 558 TP § A 3T WRI WY T i 3
The ratio of length, breadth and height of a cuboid is 5:3:2 If total
surface area of cuboid is 558 cm? then find their edges.
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One card is drawn from a well shuffled deek of 52 cards. Find the
probability to getting the following :
(i) Jack of red colour (ii) Card of spade
. ¥ -T (Part-D) -
26, e s e g 1 e o & g i 3 7 1 vl
- wR Solve the following pair of linear equations by graphical

method and find nature of solution, 4
2x-y=47 x+y=-1 _
2{ fag #ifs8- Prove : . 4

sinb _1+cos® = » L )
1-cosB  sin® OR ¢os*B+sin'®=1-2sin"Bcos’ 6

zy famgatt (11, 9) 3R (1, 2) = firar? awelt Y w FREATEG 3
A fagait % frdwis 7@ FifE 4

Find the coordinates of points which trisect the line joining point
(11,9)and (1, 2). - :

?' ABCD T Fera =g # fawa AB || DC ¥ w1 39 faref O

: . AO CO
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mnﬁ%ﬁamﬁ%’ TMET 30 - DO 4
In trapezium ABCD diagonals bisect each other at O and AB||DC. -
Show th 29 _—'CO
ow that BO DO
3= (OR)

s A= 199 ABC H AD L BC fag +:3-
AC? = AB* +BC’ -2BCxBD

?./ = aiara 929 =1 M . it 4

Find the median from the following frequency distribution ;
Class (=) | 0-10 {10-20]20-30]30-40] 40-50: 50-60 [60-70 [70-80
Frequency (f)] 2 6 10 117 {30 ] 15 |10 | 10
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